FMIE2H28 (X)
£176%

f 08 k- A0 R AT

= g
O%DE?EE%%@?EE@%@J ................................................ (%ﬁ)jﬁj w4 f—y%*ﬁ%ﬁé\ﬁ@%ﬁ) -.-83
OF%%’%??%L:F%?%I?@%T .................................................................. (*Tm%ﬁé\ ﬁ:@%’g%ﬁ) -+ [A]
=) Z5

L BERETE
W RSER A3 0 b IR O & < B LASED 5] CEARTAL2 A RE&FIH63 5, LT [461) Lvo,) #15
FE1IHOHMEIZLYD, RO LB MFRTERDOIBED R LT,
SM3E2H2H
Mg Rad & il x K T
1 R U mndda & S D4 Fr
1) =Fr=2—[1— (5—7VFa0FNL) —1H—A L ZV—NL—3—HLRFHI ] —3, 3—
AFNTH )T — NEOZOHE (@45 F—EDMB—P INACA)
@2) A2Fnr=[1— 4—T1rFa_rIN) —1H—A LV R=1L—3—BNVARFYIF] —3—XF L7 H )
T — N ROFEOEE (B4 AMB—FUBICA, MMB—FUBICA)
3) (8R) —1— (7 uruaXvhri=1) —N, N—VxF/L—6—AF/NL—9, 10—YFk Fn=x
NI —8—NAREXH I FEROZDOHE G@fr% 1 c P—LSD)
4) AFnL=3—RAFL—2— [1— (R —4—x2>—1—A ) —1H—A > F—L—3—W/LRFH3
R] 7% )7 —FROFOEE (BHRLAMMB—022, AMB—4en—PICA, MMB—4 en—P I
CA)
2 REhOHH

M 2 5555 6 SIBIT DI HRE Sz
3 REFAHA

SM3E2H1H

I RERETIS
WOBATAL, 52T Lz,
SM34E2H2HA
WgRmE & Ft ES

H
._H

1 FFArES

G246 H26R faRfHeEs1625
2 BHRERIEIZE N5 HIRO 4 FR

HARATE & T H4357%F 1, 43563 2. 43567 1
3 BHSETFT &30 2B OEFT R O

BRW PR —-TH1H 15 HRd

83



SF134E2 H 2 HEDR) FATHT 1
SRS 2 2 HREST FATA A

S
Sm
\DI?%

ILRIIB 110

T ORI ENRIFE DHE~
UBAIITEEYT,



